

1-  $f(x) = \sqrt{x+1}$ ,  $g(x) = x^2 + 2x$  ise  $(f \circ g)(x) = ?$

2-  $\lim_{x \rightarrow 1} \frac{\sqrt{x}-1}{x-1} = ?$

SÜRE: 15 dk. (10+10=20 puan)

Çözüm

1)  $(f \circ g)(x) = f(g(x)) = f(x^2 + 2x) = \sqrt{x^2 + 2x + 1} = \sqrt{(x+1)^2} = \boxed{|x+1|}$

2)  $\lim_{x \rightarrow 1} \frac{\sqrt{x}-1}{x-1} = \lim_{x \rightarrow 1} \frac{(\sqrt{x}-1)(\sqrt{x}+1)}{(x-1)(\sqrt{x}+1)}$

$= \lim_{x \rightarrow 1} \frac{\cancel{x-1}}{(\cancel{x-1})(\sqrt{x}+1)} = \lim_{x \rightarrow 1} \frac{1}{\sqrt{x}+1} = \boxed{\frac{1}{2}}$

1-  $f(x) = x^2 + 1$ ,  $g(x) = \sqrt{x^2 + 2x}$  ise  $(f \circ g)(x) = ?$

2-  $\lim_{x \rightarrow 1} \frac{x-1}{\sqrt{x}-1} = ?$

SÜRE: 15 dk. (10+10=20 puan)

Çözüm!

$$1) (f \circ g)(x) = f(g(x)) = f(\sqrt{x^2 + 2x}) = (\sqrt{x^2 + 2x})^2 + 1 = x^2 + 2x + 1 = \boxed{(x+1)^2}$$

$$2) \lim_{x \rightarrow 1} \frac{x-1}{\sqrt{x}-1} = \lim_{x \rightarrow 1} \frac{(x-1)(\sqrt{x}+1)}{(\sqrt{x}-1)(\sqrt{x}+1)} = \lim_{x \rightarrow 1} \frac{\cancel{x-1}(\sqrt{x}+1)}{\cancel{x-1}}$$

$$= \lim_{x \rightarrow 1} \sqrt{x} + 1 = \boxed{2}$$

1-  $f(x) = \sqrt{x} - 1$ ,  $g(x) = (x^2 + 1)^2$  ise  $(f \circ g)(x) = ?$

2-  $\lim_{x \rightarrow 1} \frac{2(x-1)}{x^2 - x} = ?$

SÜRE: 15 dk. (10+10=20 puan)

Çözüm:

1)  $(f \circ g)(x) = f(g(x)) = f((x^2 + 1)^2) = \sqrt{(x^2 + 1)^2} - 1 \stackrel{(x^2 + 1) > 0 \Rightarrow \sqrt{x^2 + 1} = x^2 + 1}{=} x^2 + 1 - 1 = \boxed{x^2}$

2)  $\lim_{x \rightarrow 1} \frac{2(x-1)}{x^2 - x} = \lim_{x \rightarrow 1} \frac{2(x-1)}{x(x-1)} = \lim_{x \rightarrow 1} \frac{2}{x} = \boxed{2}$

1-  $f(x) = x^2 - 1$ ,  $g(x) = \sqrt{x^2 + 1}$  ise  $(f \circ g)(x) = ?$

2-  $\lim_{x \rightarrow 1} \frac{x - x^2}{x - 1} = ?$

SÜRE: 15 dk. (10+10=20 puan)

Çözümü

1-  $(f \circ g)(x) = f(g(x)) = f(\sqrt{x^2 + 1}) = (\sqrt{x^2 + 1})^2 - 1 = x^2 + 1 - 1 = \boxed{x^2}$

2-  $\lim_{x \rightarrow 1} \frac{x - x^2}{x - 1} = \lim_{x \rightarrow 1} \frac{x(1 - x)}{x - 1} = \lim_{x \rightarrow 1} \frac{x \cancel{(1 - x)}}{-\cancel{(1 - x)}}$   
 $= \lim_{x \rightarrow 1} (-x) = \boxed{-1}$